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Model Summary

.933a .871 .868 .82725

Model
1

R R Square

Adjusted

R Square

Std. Error of

the Estimate

Predictors: (Constant), Suitability, Credibility,

Attractivenes

a. 
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Coefficientsa

1.456 .573 2.543 .012

.574 .065 .542 8.871 .000 .298 3.360

.116 .079 .096 1.471 .144 .260 3.849

.528 .051 .433 10.381 .000 .638 1.568

(Constant)

Credibility

Attractivenes

Suitability

Model

1

B Std. Error

Unstandardized

Coefficients

Beta

Standardized

Coefficients

t Sig. Tolerance VIF

Collinearity Statistics

Dependent Variable: brand_awarenessa. 

 
 

$������2��2�������������2��
���������3:1�������������3���:���������:�������52����

*�F��;C���K��;��C/��K��;���/	�K��;�	I/�� 

$�����������2��
�����
�4����5�3�����:�������52����

���������������������+�������������������$�
���
�3�����������	��������������1�
������
���#���
��� 

• +���3������������ ���������������238��� ��3:��21� ������<� ���1�
��� ���
�� �#���
�����
��

���8���5���8�3:�����1��� �5��3�/&�A�����%252��!�=�3�.� D�5��������������������������3�3:5�����5��

���
���#���
�������8���5���8�3:�����1����5��3�/&�A�����%252��!�=�3��42:������5�3���3::�� 

• +���3��� ���������� ��������$�
�������238��� ��3:��21� ������<� ���1�
��� ���
�� �#���
���� ��
��

���8���5���8�3:�����1����5��3�/&�A�����%252��!�=�3���D�5��������������������$�
�����3�3:5�����5��

���
���#���
�������8���5���8�3:�����1����5��3�/&�A�����%252��!�=�3��42:������5�3���3::�� 

• +���3��� ���������� 	����������� ����238��� ��3:��21� ������<� ���1�
��� ���
�� �#���
���� ��
��

���8���5��� 8�3:�����1��� �5��3�/&�A����� %252��!�=�3��� D�5������������	�������������3�3:5�����5��

���
���#���
�������8���5���8�3:�����1����5��3�/&�A�����%252��!�=�3��42:������5�3���3::�� 

• (��
����5�3� ���������3� ��:����� 
�� ����� 
����� 
��234255�3� ��1=�� 
���3�������������� ������������

����238��� ��3:��21� 8�3:� ����3:� ������ ���1�
��� ����
�� �#���
�������8���5��� 8�3:�����1���

�5��3�/&�A�����%252��!�=�3�. 

��3:��21�A������������������1�
���5��2���3�3�����1���9�������2���3�
�4����5�3�
�3:�3�

24��E����
����5�3�1������2��2�����������52���3��� 

%�������

$�����,2��2�������#3�25�#4��E��



������������	���
�������
��������������	�������������������
���	���������� 

	I 

 

ANOVA b

536.982 3 178.994 261.554 .000a

79.384 116 .684

616.367 119

Regression

Residual

Total

Model

1

Sum of

Squares df Mean Square F Sig.

Predictors: (Constant), Suitability, Credibility, Attractivenesa. 

Dependent Variable: brand_awarenessb. 
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Coefficientsa

1.456 .573 2.543 .012

.574 .065 .542 8.871 .000

.116 .079 .096 1.471 .144

.528 .051 .433 10.381 .000

(Constant)

Credibility

Attractivenes

Suitability

Model
1

B Std. Error

Unstandardized

Coefficients

Beta

Standardized

Coefficients

t Sig.

Dependent Variable: brand_awarenessa. 
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